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Supplementary file 1a. Synopsis of statistical tests related to Figure 1. Numerical data are provided in the Figure 1–source data 1.
[image: ]


Supplementary file 1b. Synopsis of statistical tests related to Figure 2. Numerical data are provided in the Figure 2–source data 1.
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Supplementary file 1c. Synopsis of statistical tests related to Figure 3. Numerical data are provided in the Figure 3–source data 1.
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Supplementary file 1d. Synopsis of statistical tests related to Figure 4. Numerical data are provided in the Figure 4–source data 1.
[image: ]


Supplementary file 1e. Synopsis of statistical tests related to Figure 5. Numerical data are provided in the Figure 5–source data 1.
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Supplementary file 1f. Synopsis of statistical tests related to Figure 6. Numerical data are provided in the Figure 6–source data 1.
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Supplementary file 1f (continued)
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# Related to AgeDescriptive statistics N Omnibus test Age groups

Figure 4A One-way ANOVA

P4

(2.7 ± 2.5) × 10

-4

19F = 16 P4 – P11 q = 7.7

P = 8.5 × 10

-6

df = 39

P11

(30.0 ± 3.9) × 10

-4

11

P = 9.0 × 10

-6

P4 – P18 q = 1.1 P = 0.72 df = 39

P18

(6.6 ± 4.7) × 10

-4

12 P11 – P18 q = 6.0

P = 3.4 × 10

-4

df = 39

Figure 4B Welch's ANOVA

P4 8.5 ± 0.7% 19F = 8.7 P4 – P11 q = 5.8

P = 3.8 × 10

-3

df = 12

P1117.6 ± 2.1% 11

P = 2.4 × 10

-3

P4 – P18 q = 2.4 P = 0.23 df = 15

P1811.7 ± 1.7% 12 P11 – P18 q = 3.1 P = 0.10 df = 20

Figure 4C Welch's ANOVA

P4 0.021 ± 0.002 19F = 1.2

P110.018 ± 0.001 11P = 0.32

P180.019 ± 0.001 12

Figure 4E Kruskal-Wallis test

P4 13.3 ± 1.8% 19H = 18 P4 – P11 α = 0.05 P = 0.07

P1123.5 ± 4.8% 11

P = 1.2 × 10

-4

P4 – P18 α = 0.025

P = 1.4 × 10

-3

P185.3 ± 0.7% 12 P11 – P18 α = 0.017

P = 5.9 × 10

-6

Figure 4G Welch's ANOVA

P4 0.183 ± 0.014 19F = 20 P4 – P11 q = 8.9

P = 5.5 × 10

-6

df = 23

P110.087 ± 0.006 11

P = 9.4 × 10

-6

P4 – P18 q = 8.5

P = 1.8 × 10

-5

df = 20

P180.095 ± 0.004 12 P11 – P18 q = 1.6 P = 0.50 df = 17

Figure 4H

P4 -0.046 12394

P = 3.2 × 10

-7

P11-0.032 17296

P = 2.1 × 10

-5

P180.016 4400P = 0.27

Population coupling  

of significant cells 

(dt = 3)

Tukey-Kramer test

1

Population coupling 

of all cells (σ = 3) 

2

Games-Howell test

Fraction of cells with 

significant population 

coupling (σ = 3)

3



4

Mann-Whitney test (Holm's method)

Fraction of 

significant pairs for 

STTC (dt = 3)

6



Spearman rho of  

STTC (dt = 3) to 

neuron-neuron 

distance

5

Games-Howell test

STTC of significant 

pairs (dt = 3)

Post-hoc tests
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Figure 5B Kruskal-Wallis test

P4 0.055 ± 0.010 19H = 17 P4 – P11 α = 0.025

P = 2.4 × 10

-4

P110.017 ± 0.002 11

P = 1.7 × 10

-4

P4 – P18 α = 0.05 P = 0.39

P180.055 ± 0.007 12 P11 – P18 α = 0.017

P = 1.8 × 10

-5

Figure 5C Kruskal-Wallis test

P4 5.9 ± 0.4 19H = 12 P4 – P11 α = 0.017

P = 9.8 × 10

-4

P112.5 ± 0.9 11

P = 3.0 × 10

-3

P4 – P18 α = 0.05 P = 0.41

P187.0 ± 1.1 12 P11 – P18 α = 0.025

P = 5.6 × 10

-3

Figure 5D Kruskal-Wallis test

P4 17.8 ± 1.2% 19H = 15 P4 – P11 α = 0.05 P = 0.09

P1116.6 ± 5.9% 11

P = 4.8 × 10

-4

P4 – P18 α = 0.017

P = 9.5 × 10

-5

P1832.4 ± 4.7% 12 P11 – P18 α = 0.025

P = 4.5 × 10

-3

Post-hoc tests

3

Mann-Whitney test (Holm's method)

Fraction of patterns 

in motifs (Win = 10)

1

Mann-Whitney test (Holm's method)

Gobal similarity of 

activity patterns 

(Win = 10)

2

Mann-Whitney test (Holm's method)

Number of motifs

(Win = 10)
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Figure 6B

N

2

O 184 ± 7 min

-1

Unanesth.

188 ± 6 min

-1

Figure 6C

N

2

O

353 ± 14 min

-1

Unanesth.

338 ± 9 min

-1

Figure 6D

N

2

O 3.8 ± 0.6%

Unanesth.17.1 ± 2.3%

Results section

N

2

O

1.9 ± 0.2 min

-1

Unanesth.

5.1 ± 0.7 min

-1

Results section

N

2

O 1.2 ± 0.1 s

Unanesth.2.1 ± 0.2 s

Figure 6G

N

2

O 20.4 ± 1.5%

Unanesth.21.9 ± 1.3%

Figure 6H

N

2

O 8.7 ± 1.1%

Unanesth.6.0 ± 0.8%

Figure 6–figure supplement 2C

N

2

O

2.52 ± 0.25 min

-1

Unanesth.

3.13 ± 0.21 min

-1

Figure 6–figure supplement 2D

N

2

O 0.29 ± 0.02

Unanesth.0.32 ± 0.02

Figure 6–figure supplement 2E

N

2

O 7.1 ± 2.8%

Unanesth.11.1 ± 4.8%

Figure 6–figure supplement 2F

N

2

O

(3.7 ± 0.4) × 10

-4

Unanesth.

(3.4 ± 0.5) × 10

-4

t = 0.57 df = 11 P = 0.58

11

T-Test for paired samples

Lomb-Scargle Band-

power (0.1–0.5 Hz) of Φ

12

8

T-Test for paired samples

CaT frequency 12t = 2.4 df = 11 P = 0.035

7

T-Test for paired samples

Fraction of significant 

pairs for STTC (dt = 3)

12t = 3.1 df = 11 P = 0.01

3

T-Test for paired samples

Movement periods

Total time

12t = 5.7 df = 11

P = 1.4 × 10

-4

4

T-Test for paired samples

Movement periods

Occurence frequency

12t = 4.7 df = 11

P = 6.1 × 10

-4

Network burst

time fraction

5

T-Test for paired samples

Movement periods

Duration

12t = 4.4 df = 11 P = 0.001

12t = 0.84 df = 11 P = 0.42

Statistics

1

T-Test for paired samples

Respiration rate

T-Test for paired samples

P = 0.62 df = 11 t = 0.50 12

2

Heartbeat 12t = 1.12 P = 0.29 df = 11

6

T-Test for paired samples

10

T-Test for paired samples

Time in continuous 

activity

12t = 0.97 df = 11 P = 0.35

9

T-Test for paired samples

Gini of CaT frequencies 12t = 1.99 df = 11 P = 0.07
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Figure 6–figure supplement 2G

N

2

O 5.7 ± 0.4%

Unanesth.5.1 ± 0.5%

Figure 6–figure supplement 2H

N

2

O 0.104 ± 0.003

Unanesth.0.103 ± 0.004

Results section

N

2

O

(16.2 ± 2.8) × 10

-4

Unanesth.

(-2.5 ± 4.5) × 10

-4

Figure 6–figure supplement 2I

N

2

O 9.8 ± 0.8%

Unanesth.7.3 ± 0.7%

Results section

N

2

O 0.019 ± 0.001

Unanesth.0.019 ± 0.001

15

T-Test for paired samples

Fraction of cells with 

sign. PC (σ = 3)

12t = 2.9 df = 11 P = 0.01

12

T-Test for paired samples

Network burst size 12t = 1.3 df = 11 P = 0.22

t = 0.45 df = 11 P = 0.66

14

Wilcoxon signed-rank test (exact)

Population coupling of all 

cells (σ = 3) 

12W = 76 z = 2.9 P = 0.001

13

T-Test for paired samples

STTC of significant pairs 

(dt = 3)

12

16

T-Test for paired samples

PC of significant cells 

(dt = 3)

12t = 0.33 df = 11 P = 0.74
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Figure 1I

D 0.953 ± 0.017 20

ΔF 0.947 ± 0.014  20

D 0.915 ± 0.015 20

ΔF 0.607 ± 0.047 20

D 0.930 ± 0.010 20

ΔF 0.719 ± 0.037 20

Wilcoxon Signed-

Rank Test

P = 0.44

W = 57

Z = 0.77

paired t-test

P = 1.4 × 10

-6

t = 6.9

df = 19

paired t-test

P = 8.0 × 10

-6

t = 6.1

df = 19

Precision

F1 3

2

Recall 1
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Figure 2C One-way ANOVA

P4

1.51 ± 0.16 min

-1

19F = 46 P4 – P11 q = 9.2

P = 3.1 × 10

-7

df = 39

P11

3.92 ± 0.40 min

-1

11

P = 5.1 × 10

-11

P4 – P18 q = 13

P = 1.3 × 10

-10

df = 39

P18

4.76 ± 0.29 min

-1

12 P11 – P18 q = 2.9 P = 0.11 df = 39

Figure 2E One-way ANOVA

P4 0.35 ± 0.02 19F = 19 P4 – P11 q = 6.5

P = 1.3 × 10

-4

df = 39

P11 0.23 ± 0.02 11

P = 1.8 × 10

-6

P4 – P18 q = 2.9 P = 0.11 df = 39

P18 0.41 ± 0.02 12 P11 – P18 q = 8.5

P = 1.5 × 10

-6

df = 39

Figure 2G Kruskal-Wallis test

P4 1.07 ± 0.01 19H = 27 P4 – P11 α = 0.025

P = 5.6 × 10

-5

P11 0.97 ± 0.01 11

P = 1.8 × 10

-6

P4 – P18 α = 0.017

P = 2.0 × 10

-6

P18 0.93 ± 0.01 12 P11 – P18 α = 0.05

P = 1.7 × 10

-3

Results section Kruskal-Wallis test

P4 0.079 ± 0.005 19H = 15 P4 – P11 α = 0.017

P = 1.5 × 10

-4

P11 0.057 ± 0.004 11

P = 6.2 × 10

-4

P4 – P18 α = 0.05 P = 0.59

P18 0.077 ± 0.003 12 P11 – P18 α = 0.025

P = 9.8 × 10

-4

Results section One-way ANOVA

P4 0.101 ± 0.006 19F = 3 P4 – P11

P11 0.126 ± 0.018 11P = 0.059 P4 – P18

P18 0.122 ± 0.007 12 P11 – P18

Results section Kruskal-Wallis test

P4 1.76 ± 0.21 19H = 8 P4 – P11 α = 0.017 P = 0.011

P11 0.95 ± 0.12 11P = 0.019 P4 – P18 α = 0.05 P = 0.56

P18 1.46 ± 0.15 12 P11 – P18 α = 0.025 P = 0.016

3

Mann-Whitney test (Holm's method)

CV2 of CaTs

1

CaT frequency

Post-hoc tests

Tukey-Kramer test

2

Tukey-Kramer test

Gini coefficient of 

CaT frequencies

4

Mann-Whitney test (Holm's method)

Gini coefficient of 

CV2

5



ΔF/F

0

 noise

6

Mann-Whitney test (Holm's method)

Skewness of CaT 

frequency 

distributions


image3.emf
# Related to AgeDescriptive statistics N Omnibus test Age groups

Figure 3C Kruskal-Wallis test

P4 2.3 ± 0.7% 19H = 30 P4 – P11 α = 0.025

P = 9.9 × 10

-6

P1118.1 ± 4.8% 11

P = 3.6 × 10

-7

P4 – P18 α = 0.017

P = 5.7 × 10

-8

P1857 ± 9.4% 12 P11 – P18 α = 0.05 P = 0.004

Figure 3E Kruskal-Wallis test

P4

(2.9 ± 0.4) × 10

-4

19H = 20 P4 – P11 α = 0.017

P = 9.9 × 10

-6

P11

(8.9 ± 1.8) × 10

-4

11

P = 4.5 × 10

-5

P4 – P18 α = 0.05 P = 0.33

P18

(3.4 ± 0.3) × 10

-4

12 P11 – P18 α = 0.025

P = 1.8 × 10

-5

Figure 3F One-way ANOVA

P4 11.6 ± 0.8% 19F = 34 P4 – P11 q = 11

P = 3.2 × 10

-9

df = 39

P1122.6 ± 1.1% 11

P = 3.0 × 10

-9

P4 – P18 q = 7.0

P = 4.3 × 10

-5

df = 39

P1818.3 ± 1.2% 12 P11 – P18 q = 4.0 P = 0.019 df = 39

Figure 3G Welch's ANOVA

P4 0.66 ± 0.03 s 19F = 39 P4 – P11 q = 0.79 P = 0.84 df = 20

P110.63 ± 0.04 s 11

P = 8.4 × 10

-8

P4 – P18 q = 11

P = 8.4 × 10

-8

df = 25

P180.38 ± 0.02 s 12 P11 – P18 q = 7.6

P = 3.7 × 10

-4

df = 13

Figure 3H Kruskal-Wallis test

P4 7.3 ± 0.7% 19H = 16 P4 – P11 α = 0.05 P = 0.17

P118.9 ± 1.0% 11

P = 3.8 × 10

-4

P4 – P18 α = 0.025

P = 7.4 × 10

-3

P184.8 ± 0.2% 12 P11 – P18 α = 0.017

P = 1.5 × 10

-6

Figure 3I Kruskal-Wallis test

P4 10.3 ± 0.8% 19H = 9.4 P4 – P11 α = 0.025P = 0.008

P1114.4 ± 1.2% 11P = 0.009 P4 – P18 α = 0.05 P = 0.39

P1811.2 ± 0.4% 12 P11 – P18 α = 0.017P = 0.004

Results section Welch's ANOVA

P4 0.33 ± 0.02 19F = 25 P4 – P11 q = 7.9

P = 1.7 × 10

-5

df = 28

P110.21 ± 0.01 11

P = 1.4 × 10

-6

P4 – P18 q = 1.1 P = 0.70 df = 25

P180.35 ± 0.02 12 P11 – P18 q = 8.3

P = 4.7 × 10

-5

df = 17

2

Mann-Whitney test (Holm's method)

Lomb-Scargle 

Bandpower (0.1–0.5 

Hz) of Φ

Post-hoc tests

1

Mann-Whitney test (Holm's method)

Time in continuous 

activity

3

Tukey-Kramer test

Network burst

time fraction

4

Games-Howell test

Network burst 

duration

5

Mann-Whitney test (Holm's method)

Network burst

size

6

Mann-Whitney test (Holm's method)

Mean participation 

rate of cells to NBs

7

Games-Howell test

Gini coefficient of 

participation rate of 

cells to NBs


